	LKG			
S.N.	TITLE OF THE BOOKS	SAR	VAT 15%	TOTAL
1	MATHS BLASTER	13.90	2.08	15.98
2	SUPER 26	12.71	1.91	14.62
3	LETS LEARN AND WRITE-CAPITAL LETTER	19.83	2.97	22.81
4	LETS LEARN AND WRITE-SMALL LETTER	19.83	2.97	22.81
5	TIPPY TIPPY TAP JUNIOR KG(PHONICS)	9.61	1.44	11.05
6	MY BOOK OF COLORS AND GK	10.17	1.53	11.70
7	LEARN TO WRITE PATTERNS	12.20	1.83	14.03
8	ART AND CRAFT ZONE BOOK A	19.49	2.92	22.42
9	NEW WORLD OF PICTURES	19.83	2.97	22.81
10	GO FOR GOOD HABITS A	16.95	2.54	19.49
11	FIRST STEP	15.00	2.25	17.25
12	LETS LEARN TO COUNT	15.00	2.25	17.25
		185	28	212

S.N.	NOTE BOOKS LKG	QTY	RATE	SAR
1	Transparent Sheet	1	10.00	10.00
2	кіт	1	52.50	52.50
3	NAME LABLE	4	0.50	2.00
	Total	6		64.50
	Add: VAT 15%			9.68
	Total			74

<u>UKG</u>

S.N.	TITLE OF THE BOOKS	SAR	VAT 15%	TOTAL
1	FUN WITH NUMBER	14.69	2.20	16.89
2	RADIANT WAY PRIMER	YET TO B	E RECEIVED	
3	SMILEYS JUNIOR B	18.08	2.71	20.79
4	BEGIN WITH PICTURE DICTIONERY	18.08	2.71	20.79
5	CREATIVE PLANET B	24.24	3.64	27.87
6	PRIME AKSHAR BODH	11.05	1.66	12.70
7	SACHITR HINDI KARIYA PUSTIKA	9.89	1.48	11.37
8	PATHWAY TO CURSIVE WRITING-2pcs	30.00	4.50	34.50
9	SPARKLE ENGLISH WORKSHEEET FILE	15.00	2.25	17.25
10	MATH &G K WORKSHEET FILE	15.00	2.25	17.25
		156	23	179

S.N.	NOTE BOOKS UKG	QTY	RATE	SAR
1	SQUARE 12MM 160 PG	1	5.22	5.22
2	FOUR LINE 100 PG	2	4.35	8.70
3	Transparent Sheet	1	10.00	10.00
4	кіт	1	52.50	52.50
5	NAME LABLE	4	0.50	2.00
	Total	9		78.42
	Add: VAT 15%			11.76
	Total			90

CLASS-1

S.N.	TITLE OF THE BOOKS	SAR	VAT 15%	TOTAL	
1	NEW BUZZWORD TEXTBOOK - 1	26.84	4.03	30.86	
2	NEW BUZZWORD WORKBOOK - 1	19.10	2.86	21.96	
3	NEW BUZZWORD SUPPLIMENTRY READER- 1	13.79	2.07	15.85	
4	GRAMMAR LAND-1	14.75	2.21	16.96	
5	NEW ENJOYING MATHEMATICS - 1	25.71	3.86	29.56	
6	NUTAN SARAL HINDI MALA - 1	20.91	3.14	24.04	
7	NUTAN SARAL HINDI ABHYAS PUSTAK - 1	8.19	1.23	9.42	
8	BLUE PLANET COURSE BOOK-1	21.19	3.18	24.37	
9	BLUE PLANET ACTIVITY BOOK-1	9.89	1.48	11.37	
10	ART & CRAFT ZONE BOOK -1	21.75	3.26	25.02	
11	GK TIMES - 1 NEW EDITION	YET TO E	BE RECEI	VED	
12	HINDI AKSHAR GYAN	15.00	2.25	17.25	
13	HINDI SHABD BODH	15.00	2.25	17.25	
14	COMPULSORY ARABIC	16.50	2.48	18.98	
		229	34	263	
15	READY FOR LIFE-1	YET TO BE RECEIVED			
16	ISLAMIC-1	YET TO F	YET TO RECEIVED		

S.N.	NOTE BOOKS I STD	QTY	RATE	SAR
1	SQUARE 8MM 100 PG	2	4.35	8.70
2	FOUR LINE 100 PG	4	4.35	17.40
3	INTERLEAF 100 PG	1	4.35	4.35
4	SINGLE LINE 100 PG	1	4.35	4.35
5	PROJECT BOOK	1	5.50	5.50
6	SKETCH BOOK B4 SIZE	1	5.50	5.50
7	COVER	2	9.00	18.00
8	NAME LABLE	4	0.50	2.00
	ΤΟΤΑΙ	16		65.80
	Add: VAT 15%			9.87
	Total			76

CLASS-2

S.N.	TITLE OF THE BOOKS	SAR	VAT 15%	TOTAL
1	NEW BUZZWORD TEXTBOOK - 2	27.91	4.19	32.10
2	NEW BUZZWORD WORKBOOK - 2	19.78	2.97	22.74
3	NEW BUZZWORD SUPPLIMENTRY READER- 2	14.01	2.10	16.11
4	GRAMMAR LAND-2	15.71	2.36	18.06
5	NEW ENJOYING MATHEMATICS - 2	29.10	4.36	33.46
6	NUTAN SARAL HINDI MALA - 2	21.75	3.26	25.02
7	NUTAN SARAL HINDI ABHYAS PUSTAK - 2	8.48	1.27	9.75
8	BLUE PLANET COURSE BOOK-2	23.17	3.47	26.64
9	BLUE PLANET ACTIVITY BOOK-2	9.89	1.48	11.37
10	ART & CRAFT ZONE-2	24.30	3.64	27.94
11	GK TIMES - 2 NEW EDITION	YET TO E	BE RECE	VED
12	COMPULSORY ARABIC	16.5	2.48	18.98
		211	32	242
13	READY FOR LIFE-2	YET TO BE RECEIVED		
14	ISLAMIC-2	YET TO E	BE RECE	VED

S.N.	NOTE BOOKS II STD	QTY	RATE	SAR
1	SQUARE 8MM 100 PG	2	4.35	8.70
2	FOUR LINE 100 PG	4	4.35	17.40
3	INTERLEAF 100 PG	2	4.35	8.70
4	SINGLE LINE 40 PG	1	1.75	1.75
5	PROJECT BOOK	1	5.50	5.50
6	SKETCH BOOK B4 SIZE	1	5.50	5.50
7	COVER	2	9.00	18.00
8	NAME LABLE	4	0.50	2.00
	TOTAL	17		67.55
	Add: VAT 15%			10.13
	Total			78

CLASS-3

S.N.	TITLE OF THE BOOKS	SAR	VAT 15%	TOTAL
1	NEW BUZZWORD TEXTBOOK - 3	30.00	4.50	34.50
2	NEW BUZZWORD WORKBOOK - 3	20.11	3.02	23.13
3	NEW BUZZWORD SUPPLIMENTRY READER- 3	15.20	2.28	17.48
4	GRAMMAR LAND-3	17.40	2.61	20.01
5	NEW ENJOYING MATHEMATICS - 3	31.36	4.70	36.06
6	NUTAN SARAL HINDI MALA - 3	22.88	3.43	26.31
7	NUTAN SARAL HINDI ABHYAS PUSTAK - 3	9.32	1.40	10.72
8	BLUE PLANET COURSE BOOK-3	26.27	3.94	30.21
9	BLUE PLANET ACTIVITY BOOK-3	9.89	1.48	11.37
10	GK TIMES - 3 NEW EDITION	YET TO E	BE RECEI	VED
11	COMPULSORY ARABIC	16.5	2.48	18.98
		199	30	229
12	READY FOR LIFE-3	YET TO BE RECEIVED		
13	ISLAMIC-3	YET TO BE RECEIVED		

S.N.	NOTE BOOKS III STD	QTY	RATE	SAR
1	SQUARE 8MM 100 PG	2	4.35	8.70
2	INTERLEAF 100 PG	2	4.35	8.70
3	FOUR LINE 100 PG	2	4.35	8.70
4	SINGLE LINE 160 PG	2	5.22	10.44
5	SINGLE LINE 100 PG	2	4.35	8.70
6	PROJECT BOOK	1	5.50	5.50
7	SKETCH BOOK B4 SIZE	1	5.50	5.50
8	COVER	2	9.00	18.00
9	NAME LABLE	4	0.50	2.00
	TOTAL	18		76.24
	Add: VAT 15%			11.44
	Total			88

CLASS-4

S.N.	TITLE OF THE BOOKS	SAR	VAT 15%	TOTAL
1	NEW BUZZWORD TEXTBOOK - 4	29.95	4.49	34.44
2	NEW BUZZWORD WORKBOOK - 4	20.51	3.08	23.59
3	NEW BUZZWORD SUPPLIMENTRY READER- 4	15.54	2.33	17.87
4	GRAMMAR LAND-4	19.72	2.96	22.68
5	NEW ENJOYING MATHEMATICS - 4	31.64	4.75	36.39
6	NUTAN SARAL HINDI MALA - 4	23.73	3.56	27.29
7	NUTAN SARAL HINDI ABHYAS PUSTAK - 4	9.89	1.48	11.37
8	BLUE PLANET COURSE BOOK-4	27.40	4.11	31.51
9	BLUE PLANET ACTIVITY BOOK-4	9.89	1.48	11.37
10	GK TIMES - 4 NEW EDITION	YET TO E	BE RECEI	VED
11	COMPULSORY ARABIC	16.50	2.48	18.98
		205	31	235
12	READY FOR LIFE-4	YET TO BE RECEIVED		
13	ISLAMIC-4	YET TO BE RECEIVED		

S.N.	NOTE BOOKS IV STD	QTY	RATE	SAR
1	SINGLE LINE 160 PG	2	5.22	10.44
2	SINGLE LINE 100 PG	2	4.35	8.70
3	SINGLE LINE 40 PG	3	1.75	5.25
4	INTERLEAF 100 PG	2	4.35	8.70
5	SQUARE 8MM 100 PG	2	4.35	8.70
6	GRAPGH BOOK 100 PG	1	4.35	4.35
7	PROJECT BOOK	1	5.50	5.50
8	SKETCH BOOK B4 SIZE	1	5.50	5.50
9	COVER	2	9.00	18.00
10	NAME LABLE	4	0.50	2.00
	TOTAL	20		77.14
	Add: VAT 15%			11.57
	Total			89

CLASS-5

S.N.	TITLE OF THE BOOKS	SAR	VAT 15%	TOTAL	
1	NEW BUZZWORD TEXTBOOK - 5	31.13	4.67	35.80	
2	NEW BUZZWORD WORKBOOK - 5	20.85	3.13	23.98	
3	NEW BUZZWORD SUPPLIMENTRY READER- 5	15.88	2.38	18.26	
4	GRAMMAR LAND-5	20.96	3.14	24.11	
5	NEW ENJOYING MATHEMATICS - 5	32.21	4.83	37.04	
6	NUTAN SARAL HINDI MALA - 5	23.73	3.56	27.29	
7	NUTAN SARAL HINDI ABHYAS PUSTAK - 5	10.17	1.53	11.70	
8	LEARNING ELEMENTRY SCIENCE - 5	23.45	3.52	26.96	
9	MY BIG BOOK OF SOCIAL STUDIES - 5	33.56	5.03	38.60	
10	GK TIMES - 5 NEW EDITION	YET TO E	BE RECEI	VED	
11	COMPULSORY ARABIC	16.5	2.48	18.98	
		228	34	263	
12	READY FOR LIFE-5	YET TO BE RECEIVED			
13	ISLAMIC-5	YET TO BE RECEIVED			

S.N.	NOTE BOOKS V STD	QTY	RATE	SAR
1	SINGLE LINE 160 PG	2	5.22	10.44
2	SINGLE LINE 100 PG	2	4.35	8.70
3	SINGLE LINE 40 PG	3	1.75	5.25
4	INTERLEAF 100 PG	2	4.35	8.70
5	SQUARE 8MM 100 PG	2	4.35	8.70
6	GRAPGH BOOK 100PG	1	4.35	4.35
7	PROJECT BOOK	1	5.50	5.50
8	SKETCH BOOK B4 SIZE	1	5.50	5.50
9	COVER	2	9.00	18.00
10	NAME LABLE	4	0.50	2.00
	TOTAL	20		77.14
	Add: VAT 15%			11.57
	Total			89

CLASS-6

S.N.	TITLE OF THE BOOKS	SAR	VAT 15%	TOTAL	
1	NEW BUZZWORD TEXTBOOK - 6	32.54	4.88	37.43	
2	NEW BUZZWORD WORKBOOK - 6	21.19	3.18	24.37	
3	NEW BUZZWORD SUPPLEMENTARY READER-6	16.27	2.44	18.71	
4	GRAMMAR LAND-6	22.37	3.36	25.73	
5	HINDI VIYAKRAN SUDHA-6	22.32	3.35	25.67	
6	COMPULSORY ARABIC	16.50	2.48	18.98	
7	VASANTH (PART - 1) - 6	YET TO E	BE RECEI	VED	
8	MATHEMATICS - 6	YET TO E	BE RECEI	VED	
9	SCIENCE-6	YET TO E	BE RECEI	VED	
10	OUR PAST HISTORY (PART - 1) - 6	YET TO E	BE RECEI	VED	
11	THE EARTH OUR HABITAT (PART - 1) - 6	YET TO E	BE RECEI	VED	
12	SOCIAL AND POLITICAL LIFE (PART - 1) - 6	YET TO E	BE RECEI	VED	
		131	20	151	
13	READY FOR LIFE-6	YET TO BE RECEIVED			
14	ISLAMIC-6	YET TO BE RECEIVED			

S.N.	NOTE BOOKS VI STD	QTY	RATE	SAR
1	SINGLE LINE 160 PG	4	5.22	20.88
2	SINGLE LINE 100 PG	4	4.35	17.40
3	INTERLEAF 160 PG	2	5.22	10.44
4	SINGLE LINE 400 PG	1	8.70	8.70
5	GRAPGH BOOK 100 PG	1	4.35	4.35
6	PROJECT BOOK	1	5.50	5.50
7	COVER	2	9.00	18.00
8	NAME LABLE	4	0.50	2.00
	TOTAL	19		87.27
	Add: VAT 15%			13.09
	Total			100

CLASS-7

S.N.	TITLE OF THE BOOKS	SAR	VAT 15%	TOTAL	
1	NEW BUZZWORD TEXTBOOK - 7	33.56	5.03	38.60	
2	NEW BUZZWORD WORKBOOK - 7	21.53	3.23	24.76	
3	NEW BUZZWORD SUPPLEMENTARY READER-7	16.61	2.49	19.10	
4	GRAMMAR LAND-7	22.94	3.44	26.38	
5	HINDI VIYAKRAN SUDHA-7	23.45	26.96		
6	COMPULSORY ARABIC	16.5	18.98		
7	VASANTH (PART - 2) - 7	YET TO E	BE RECE	VED	
8	MATHEMATICS - 7	YET TO E	BE RECEI	VED	
9	SCIENCE- 7	YET TO E	BE RECEI	VED	
10	OUR PASTS HISTORY (PART - 2) - 7	YET TO E	BE RECEI	VED	
11	SOCIAL AND POLITICAL LIFE (PART - 2) - 7	YET TO E	BE RECEI	VED	
12	OUR ENVIRONMENT - 7	YET TO E	BE RECEI	VED	
		135	20	155	
13	READY FOR LIFE-7	YET TO BE RECEIVED			
14	ISLAMIC-7	YET TO BE RECEIVED			

S.N.	NOTE BOOKS VII STD	QTY	RATE	SAR
1	SINGLE LINE 160 PG	4	5.22	20.88
2	SINGLE LINE 100 PG	4	4.35	17.40
3	INTERLEAF 160 PG	2	5.22	10.44
4	SINGLE LINE 400 PG	1	8.70	8.70
5	GRAPGH BOOK 100 PG	1	4.35	4.35
6	PROJECT BOOK	1	5.50	5.50
7	COVER	2	9.00	18.00
8	NAME LABLE	4	0.50	2.00
	TOTAL	19		87.27
	Add: VAT 15%			13.09
	Total			100

CLASS-8

S.N.	TITLE OF THE BOOKS	SAR	VAT 15%	TOTAL	
1	NEW BUZZWORD TEXTBOOK - 8	33.84	5.08	38.92	
2	NEW BUZZWORD WORKBOOK - 8	21.92	3.29	25.21	
3	NEW BUZZWORD SUPPLEMENTARY READER-8	16.61	2.49	19.10	
4	GRAMMAR LAND-8	23.39	3.51	26.90	
5	HINDI VIYAKRAN SUDHA-8	24.01	27.61		
6	COMPULSORY ARABIC	16.5	2.48	18.98	
7	VASANTH -3 -8	YET TO E	BE RECE	VED	
8	MATHEMATICS -8	YET TO E	BE RECE	VED	
9	SCIENCE-8	YET TO E	BE RECE	VED	
10	OUR PASTS HISTORY III -8	YET TO E	BE RECE	VED	
11	SOCIAL AND POLITICAL LIFE -III-8	YET TO E	BE RECE	VED	
12	RESOURSES AND DEVELOPMENT-8	YET TO E	BE RECE	VED	
		136	20	157	
13	READY FOR LIFE-8	YET TO BE RECEIVED			
14	ISLAMIC-8	YET TO E	BE RECE	VED	
		-	-	-	

S.N.	NOTE BOOKS VIII STD	QTY	RATE	SAR
1	SINGLE LINE 160 PG	4	5.22	20.88
2	SINGLE LINE 100 PG	4	4.35	17.40
3	INTERLEAF 160 PG	2	5.22	10.44
4	SINGLE LINE 400 PG	1	8.70	8.70
5	GRAPGH BOOK 100 PG	1	4.35	4.35
6	PROJECT BOOK	1	5.50	5.50
7	COVER	2	9.00	18.00
8	NAME LABLE	4	0.50	2.00
	TOTAL	19		87.27
	Add: VAT 15%			13.09
	Total			100

	CLASS-9						
S.N.	TITLE OF THE BOOKS	PUBLISHERS NAME	PRICE	SAR	VAT 15%	TOTAL	
1	BEHIVE-9	NCERT		YET TO) BE RE(CEIVED	
2	MOMENT-9	NCERT		YET TO) BE RE	CEIVED	
3	WORDS AND EXPRESSION-PART-1-9	NCERT		YET TO	YET TO BE RECEIVED		
4	MATHEMATICS - 9	NCERT		YET TO BE RECEIVED			
5	MATHEMATICS ENRICHMENT LAB ACTIVITIES-9	GOYAL	370.00	20.91	3.14	24.04	
6	SCIENCE - 9	NCERT		YET TO	BE RE	CEIVED	
7	SCIENCE LAB MANUAL - 9	GOYAL	285.00	16.10	2.42	18.52	
8	INDIA & CONTEMPORARY WORLD (PART - 1) - 9	NCERT		YET TO) BE RE(CEIVED	
9	CONTEMPORARY INDIA-1 GEOGRAPHY	NCERT		YET TO) BE RE(CEIVED	
10	DEMOCRATIC POLITICS (PART - 1) - 9	NCERT		YET TO BE RECEIVED			
11	ECONOMICS - 9	NCERT		YET TO BE RECEIVED			
		TOTAL	655	37	6	43	

S.N.	NOTE BOOKS IX STD	QTY	RATE	SAR
1	SINGLE LINE 100 PG	4	4.35	17.40
2	SINGLE LINE 160 PG	4	5.22	20.88
3	GRAPGH BOOK 100 PG	1	4.35	4.35
4	RECORD BOOK	6	11.00	66.00
5	LAB RECORD	1	13.00	13.00
6	COVER	2	9.00	18.00
7	NAME LABLE	4	0.50	2.00
	TOTAL	22		141.63
	Add: VAT 15%			21.24
	Total			163

LANGUAGES ARE NOT AVAILABLE AT THE MOMENT

	CLASS-10						
S.N.	TITLE OF THE BOOKS	PUBLISHERS NAME	PRICE	SAR	VAT 15%	TOTAL	
1	FIRST FLIGHT-10	NCERT		YET TO) BE REC	CEIVED	
2	FOOT PRINT-10	NCERT		YET TO) BE REC	CEIVED	
3	WORDS AND EXPRESSION-PART-2-10	NCERT		YET TO	YET TO BE RECEIVED		
4	MATHEMATICS - 10	NCERT		YET TO) BE REC	CEIVED	
5	MATHEMATICS ENRICHMENT LAB ACTIVITIES-10	GOYAL	375.00	21.19	3.18	24.37	
6	SCIENCE - 10	NCERT		YET TO) BE REC	CEIVED	
7	SCIENCE LAB MANUAL - 10	GOYAL	310.00	17.52	2.63	20.14	
8	INDIA & CONTEMPORARY WORLD (PART - 2) - 10	NCERT		YET TO) BE REC	CEIVED	
9	CONTEMPORARY INDIA-II GEOGRAPHY-10	NCERT		YET TO) BE REC	CEIVED	
10	DEMOCRATIC POLITICS (PART - 2) - 10	NCERT		YET TO BE RECEIVED			
11	ECONOMICS - 10	NCERT		YET TO BE RECEIVED			
		TOTAL	685	39	6	45	
				-	-	-	

S.N.	NOTE BOOKS X STD	QTY	RATE	SAR
1	SINGLE LINE 100 PG	4	4.35	17.40
2	SINGLE LINE 160 PG	4	5.22	20.88
3	GRAPGH BOOK 100 PG	1	4.35	4.35
4	RECORD BOOK	6	11.00	66.00
5	LAB RECORD	1	13.00	13.00
6	COVER	2	9.00	18.00
7	NAME LABLE	4	0.50	2.00
	TOTAL	22		141.63
	Add: VAT 15%			21.24
	Total			163

LANGUAGES ARE NOT AVAILABLE AT THE MOMENT

S.N.	TITLE OF THE BOOKS	PUBLISHERS NAME	PRICE	SAR	VAT	TOTAL
					15%	
1	Snapshots-XI	NCERT		-	-	-
2	Hornbill (English Reader Class- XI)	NCERT		-	-	-
3	Physics Part -1-XI	NCERT		-	-	-
4	Physics Part -2-XI	NCERT		-	-	-
5	Physics Lab Manual -XI	GOYAL		-	-	-
6	EXAMPLAR PHYSICS-11	NCERT		-	-	-
7	Chemistry Part -1-XI	NCERT		-	-	-
8	Chemistry Part -2-XI	NCERT		-	-	-
9	Chemistry Lab Manual -XI	GOYAL		-	-	-
10	EXAMPLAR CHEMISTRY-11	NCERT		-	-	-
11	Mathematics Class XI	NCERT		-	-	-
12	MATHEMATICS lab Activities -11	GOYAL		-	-	-
13	EXEMPLAR MATH-11	NCERT		-	-	-
14	Biology –Class XI	NCERT		-	-	-
15	BIO LAB MANUAL -11	GOYAL		-	-	-
16	EXAMPLAR BIOLOGY-11	NCERT		-	-	-
17	Computer SCIENCE with PYTHON -XI	NCERT		-	-	-
18	HUMAN ECOLOGY AND FAMILY SCIENCE-11 Part-1 & 2	NCERT		-	-	-
19	PSYCHOLOGY TEXTBOOK-11	NCERT		-	-	-
20	Fundamentals of Physical Geography-XI	NCERT		-	-	-
21	India Physical Environment-XI	NCERT		-	-	-
22	Practical Work in Goegraphy -I-XI	NCERT		-	-	-
23	Statistics For Economics XI	NCERT		-	-	-
24	INTRODUCTION TO MICRO ECONOMICS-11	NCERT		-	-	-
25	Business Studies Text book- XI	NCERT		-	-	-
26	Accountancy: Financial Accounting Part I (Textbook- XI	NCERT		-	-	-
	Accountancy: Financial Accounting Part II (Textbook- X			-	-	-
	MARKETING STUDY MATERIAL PROVIDED BY CBSE -11	NCERT		-	-	-
29	Employability Skills-11	NCERT		-	-	-
	Indian Constitution at work-XI	NCERT		-	-	-
31	Political Theory-XI	NCERT		-	-	-

ONLY NOTEBOOKS AND RECORD BOOKS AVAILABLE

	CLASS-12						
S.N	TITLE OF THE BOOKS	PUBLISHERS NAME	PRICE	SAR	VAT 15%	TOTAL	
1	English Reader Class XII (Flamingo)	NCERT		-	-	-	
2	Suppl. Reader XII (Vistas)	NCERT		-	-	-	
3	Physics Part -1-XII	NCERT		-	-	-	
4	Physics Part -2-XII	NCERT		-	-	-	
5	Physics lab manual-XII	Goyal Pub		-	-	-	
6	EXEMPLAR PHYSICS-12	NCERT		-	-	-	
7	Chemistry Part -1-XII	NCERT		-	-	-	
8	Chemistry Part -2-XII	NCERT		-	-	-	
9	Chemistry Lab Manual -XII	Goyal Pub		-	-	-	
10	EXEMPLAR CHEMISTRY-12	NCERT		-	-	-	
11	Mathematics Part I-XII	NCERT		-	-	-	
12	Mathematics Part II-XII	NCERT		-	-	-	
13	MATH LABMANUAL-12	Goyal Pub		-	-	-	
14	EXEMPLAR MATH-12	NCERT		-	-	-	
15	Biology –Class XII	NCERT		-	-	-	
16	BIO LAB MANUAL -12	Goyal Pub		-	-	-	
17	EXEMPLAR BIOLOGY-12	NCERT		-	-	-	
18	Computer SCIENCE with PYTHON -XII	NCERT		-	-	-	
19	HUMAN ECOLOGY AND FAMILY SCIENCE-12 Part-1 & 2	NCERT		-	-	-	
20	PSYCHOLOGY TEXTBOOK-12	NCERT		-	-	-	
21	Fundamentals of human Geography-XII	NCERT		-	-	-	
22	Indian people economy-XII	NCERT		-	-	-	
23	Practical Work in Goegraphy -II-XII	NCERT		-	-	-	
24	INDIA ECONOMICS DEVELOPMENT-12	NCERT		-	-	-	
25	Introductory Macro Economics-XII	NCERT		-	-	-	
26	Business Studies I-XII	NCERT		-	-	-	
27	Business Studies II-XII	NCERT		-	-	-	
28	Accountancy - Not for Profit Org and Partnership-XII	NCERT		-	-	-	
29	Accountancy - Company Account analysis-XII	NCERT		-	-	-	
30	MARKETING STUDY MATERIAL PROVIDED BY CBSE -12	CBSE		-	-	-	
31	Employability Skills-12	NCERT		-	-	-	
32	Contemporary World Politics-XII	NCERT		-	-	-	
33	Politics in India since Independence-XII	NCERT		-	-	-	
	·						

ONLY NOTEBOOKS AND RECORD BOOKS AVAILABLE